Maths Year 2

23+10= 12 +53 = 34+37 =
47 +10 = 26 +62 = 26 +59 =
85+ 10= 72+12 = 65+ 28 =
53+20= 31+58 = 55+37=
42 + 30 = 64 + 25 = 33+58 =
55-10= 64 - 23 = 75-26=
72-10= 78 -46 = 98 -59 =
89-10= 98 -53 = 42 - 27 =
53-20= 74 -62 = 94 -59 =
75—-30= 83-61= 84 -58 =

How many multiplication and division sentences
can you write for this array?

SIS
SIS

Zahid says if he multiplies an odd number by an
odd number, the answer will be even.

What do you think?
Back up your answer
with evidence.

Times Tables Rockstars: { HYPERLINK "https://play.ttrockstars.com/auth/school/student"}







